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WIER KEBREZEUE
£ i1 & - RTE B 2 i ® E =

[CEE 15, 894, 727
HRE 15,894,727 x 63.0% — 8,405 10, 005, 273
REEEE 15,894, 727 + 10,005, 273 25,900, 000
FEES YT 25, 900, 000
HEREHLE 25,900,000 x 10.00% 2,590, 000
HEXHE 25,900, 000 + 2, 590, 000 28, 490, 000




BERNRE KEBREZEUE
& [ & - RTE B 2 € #
EHiZEA=E 15,894, 727
RS 15, 894, 727
BEElEE 15,674, 727
HB 147, 450
TE&EE 147, 450
1 EHBEFH 1.00 50, 850 50, 850
[l
2 hfEiiTEE 1.00 45,750 45,750
[a]
3 EMMAR 1.00 50, 850 50, 850
[a]
HESAS 1,311,941
SMEERAE 1,148, 560
4 (EXETE 7.00 13, 860 97,020
s
5 #Em 7.00 33, 850 236, 950
s
6 £l 7.00 36, 940 258, 580
Hh
7 AEER 7.00 21,500 150, 500
s
8 RELNE 7.00 57,930 405, 510
s
HRRESE 57,427




BERNRE KEBREEME
2 o B - AR Bify ) i i
9 HHERES 1.00 57,427 57,427
%
RETESE 105, 954
10 BEEEE 1.00 105, 954 105, 954
%
ZRTAHAE , 806, 213
UAVEE S #HIE , 180, 391
11 EZEETE 1.00 59,190 59,190
=
12 UAWEERIZE (1) Atth g5 0.09 15, 630, 700 , 406, 763
km2
13 UANEEAIE (2) Bith i2 0.18 15, 630, 700 , 813,526
km2
14 UWEEAIE (3) Cith i3 0.16 15, 630, 700 ,500, 912
km2
HHERESE , 557,150
15 HREESE 1.00 1,557,150 , 557,150
%
RETESE 468,672
16 FEEHEE 1.00 468, 672 468,672
%
TILTFE—LAIE 409, 123
A2 G 438,970
17 BIE%5E 1.00 345,016 345,016
%




BEA

g/_lEl

i

KEBREFAE

2 L3 g - BRRTE B £ fifl %8
18 HEAHE QEELY) 1.00 93, 954 93, 954
=
KFA=E , 675,135
19 BETXH 1.00 666, 065 666, 065
=
20 RILFE—LBR (1) Adth 21 0.13 6,121,740 795, 826
km2
21 TILFE—LBR (2) Bith s 0.30 6,121,740 , 836, 522
km2
22 RILFE—LBIR (3) Cith g 0.08 4,709, 030 376, 722
km2
B ,295,018
23 MEEERK 1.00 1,295,018 ,295,018
=
EERE 220, 000
EEZE 220, 000
AR 220, 000
24 EFHERER 1.00 100, 000 100, 000
=
25 EFHRRIERE 1.00 120, 000 120, 000
=




RER-TET/ Svr— KEBELEAE
EZ=
B EHETFE 1EH Y
% o] I - AR B 2 i S w =
AETEEM
A 0.50 54, 600. 00 217,300
IR
A 0.50 47, 100. 00 23, 550
& it ES RN E 50, 850. 00 50, 850
iS5 :2
& DRITAE 1EH Y
2 # 1B - AR By g fi %8 ® =
AETEEM
A 0.50 54, 600. 00 217,300
RS
A 0.50 36, 900. 00 18, 450
& it ES RN E 45,750. 00 45,750
iS5 :3
L KEMWHAE 1EH Y
2 # 1B - AR By g fi %8 " =
AETEEM
A 0.50 54, 600. 00 217,300
IR
A 0.50 47, 100. 00 23, 550
& it ES RN E 50, 850. 00 50, 850




RER-TET/ Svr—2 KEBELEAE
EE 4
B ERXEHE 1LY (20HE)
% o B - AR B g fi £ @ w =
B8 A
A 2.00 54, 600. 00 109, 200
B8 D
A 2.00 47,100. 00 94,200
RS
A 2.00 36, 900. 00 73, 800
& it YEZ8EH - 20.00th 2 13, 860. 00 277,200
BS:5
27 EA 138y (2045)
2 # 1B - AR Bif B fi & =@ ® =
B8 D
A 6.00 47,100. 00 282, 600
RS
A 6. 00 36, 900. 00 221,400
AEHTF
A 5.00 34, 600. 00 173, 000
& it YE%8EH - 20.00th s 33, 850. 00 677,000
ES:6
2% - 88 1LY (20HE)
% o B - AR B g fi £ @ w =
IR
A 5.50 47,100. 00 259, 050
B & BT
A 5.50 36, 900. 00 202, 950
AEHT
A 8.00 34, 600. 00 276, 800
& it YEZ8EH - 20.00th 2 36, 940. 00 738, 800




RER-TET/ Svr—2 KEBELEAE
E5:17
fF  HEmE 138y (2048)
% o B - AR B g B ff %8 w =
B8 TR
A 1.00 54, 600. 00 54, 600
B8 D
A 3.00 47,100. 00 141, 300
RS
A 4.00 36, 900. 00 147, 600
AEHTF
A 2.50 34, 600. 00 86, 500
& it YE%8EH - 20.00th s 21, 500. 00 430, 000
iS5 :8
L RERRE 1LY (104#8)
% o] I - AR B 2 B ff S w =
B8 D
A 1.00 47,100. 00 47,100
RS
A 6.00 36, 900. 00 221,400
AERBE
A 12.00 25, 900. 00 310, 800
& it YE%8EH - 10.00th s 57, 930. 00 579, 300
=)
A MHEEE B
% o B - AR B g B ff %8 w =
BHRE
% 2.50 1, 148, 560. 00 28,714
BIEERE
% 1.50 1,148, 560. 00 17,228
M
% 1.00 1, 148, 560. 00 11, 485
& B {E¥8EH - 1.00K 57,427.00 57,427




RER-TET/ Svr— KEBELEAE
H5:10
2 BEEEE EEL
% o B - AR B g B ff %8 w =
BEEEE
= 1.00 105, 954. 00 105, 954
& it {E¥8:H - 1.00K 105, 954. 00 105, 954
511
L EEHE B
2 # 1B - IR Bif B B %8 ® =
B8 E D
A 0.50 54, 600. 00 217,300
IR
A 0.30 47, 100. 00 14,130
B & BT
A 0.20 36, 900. 00 7,380
AEHT
A 0.30 34, 600. 00 10, 380
& it {E¥8:H - 1.00K 59, 190. 00 59,190
H5:12
2% UNSERE (1) Aths 1B%Y (0.1km2)
2 # 1B - IR Bif B B %8 " =
B8 E D
A 3.70 54, 600. 00 202,020
IR
A 13.90 47,100. 00 654, 690
B & BT
A 10. 80 36, 900. 00 398, 520
AEHT
A 7.40 34, 600. 00 256, 040
AERBE
A 2.00 25, 900. 00 51, 800
& it E%8H :0.10km2 15, 630, 700. 00 1,563,070




Rt R - T/ \wr—o

S 13

2% UNWNEEHE (2) Biim

KEEREFAE

1H&EY (0.1km2)

4 L R - KT By 8 = B i %8 5 &=
B2 EEBED
A 3.70 54, 600. 00 202,020
BIEHED
A 13.90 47,100. 00 654, 690
B = AT
A 10. 80 36, 900. 00 398, 520
AEBF
A 7.40 34, 600. 00 256, 040
BIEWENE
A 2.00 25, 900. 00 51, 800
& H YEXHEH :0.10km 2 15, 630, 700. 00 1,563,070
H5: 14
&% UWEERIZE (3) CiHim 1H&Y (0.1km2)
% L R - kTiE By H = B {f B i &
B2 ETHE
A 3.70 54, 600. 00 202,020
B2 AR
A 13.90 47,100. 00 654, 690
pil=g 10k
A 10. 80 36, 900. 00 398, 520
BIZBF
A 1.40 34, 600. 00 256, 040
RIEWHBE
A 2.00 25, 900. 00 51, 800
= &t YEXBEHN :0.10km 2 15, 630, 700. 00 1,563,070
S : 15
B BEEREE 1Y
4 [ R - BKTE By 8 = B i %8 i &
= 1.00 1,557, 150. 00 1,557,150
= &t 1,557, 150. 00 1,557,150




RiEFR -/ N\vr—2 KBEREERE
H5 :16
B BEEER IEED,
# # 1A - BRTA Bify g B % #E ® =
BETER
= 1.00 468, 672. 00 468, 672
a Bl e 1. 00K 468, 672. 00 468,672
5 17
B HBER IEEL,
# # 1A - BRTA Bify g B % #E ® =
BEE AR
A 2.00 54, 600. 00 109, 200
I B FR B
A 3.00 47,100. 00 141, 300
MEREH
A 2.00 36, 900. 00 73, 800
AEBHF
A 0.50 34, 600. 00 17, 300
A 2H40%
% 1. 00 341, 600. 00 3,416
a B EEBED - 1.00=K 345, 016. 00 345,016
H5:18
B WAER QRS Y) 1y
# 5 R - BRI B & B # = w &
AERHEE
A 2.00 25, 900. 00 51, 800
FSwy 2t
H 1.50 27, 483. 00 41,224/4.70H / 8H
HHH 2h0%
% 1.00 93, 024. 00 930
a g e 1. 00K 93, 954. 00 93, 954




RET-FET/ v —2 KEBRLEME

H5:19
B BETR b IEER,
# 5 RHE - PRk Bify % 2 B ff & # = " =
XEE S4 AT A
5| 1.00 3,518.00 3,518/2.00H / 8H
B X BT
A 1. 00 54, 600. 00 54, 600
IR R
A 1.50 47,100. 00 70, 650
HE R
A 1.50 36, 900. 00 55, 350
AEBHF
A 1.00 34, 600. 00 34, 600
BIE M FRP D 70PS%Y
H 1. 00 75,113. 00 75,113 8H
GNSSIRIfz 2 & DGNSS
5| 1.00 25, 740. 00 25,740
TILF E—LEENFEHE 36~455kHz
H 1. 00 339, 900. 00 339, 900
M 2Hh0%
% 1.00 659, 471. 00 6, 594
a g EZRES - 1.00K 666, 065. 00 666, 065




RET-FET/ v —2 KEBRLEME

ES:20
B RILFE—LAIR (1) AthS 1H&Y (0.1km2)
% g g - BRTE BAr H 2 B & & W = w &
RBE S4 bNY 2L
=} 1.00 3,518.00 3,518/2. 00H / 8H
HEm FRP D 70PS%E!
=i 1.00 75, 113.00 75,113 8H
B2 F AR
A 1.00 54, 600. 00 54, 600
A E AR
A 1.00 47, 100. 00 47,100
B2 AT
A 1.00 36, 900. 00 36,900
RIEBNF
A 0.50 34, 600. 00 17,300
GNSS:BIfiz % & DGNSS
=} 1.00 25, 740. 00 25,740
TILF E—LEENFEHE 36~455kHz
=i 1.00 339, 900. 00 339, 900
MM 2K0%
% 2.00 600, 171. 00 12,003
& i VE%280 :0.10km 2 6, 121, 740. 00 612,174




RET-FET/ v —2 KEBRLEME

B#5: 21
B TLFE—LBEIR (2) Bl 1H4Y (0.1km2)
# 5 RHE - PRk Bify % 2 B ff & # = " =
XEE S4 AT A
5| 1.00 3,518.00 3,518/2.00H / 8H
BIE M FRP D 70PS%Y
H 1. 00 75,113. 00 75,113 8H
I E BB
A 1.00 54, 600. 00 54, 600
HERE
A 1. 00 47,100. 00 47,100
s T
A 1.00 36, 900. 00 36, 900
MEHTF
A 0.50 34, 600. 00 17, 300
GNSSIRIfz 2 & DGNSS
5| 1.00 25, 740. 00 25,740
TILF E—LEENFEHE 36~455kHz
H 1. 00 339, 900. 00 339, 900
M 2Hh0%
% 2.00 600, 171. 00 12,003
a g EZRESH :0.10km 2 6, 121, 740. 00 612,174




RER-TET/ Svr— KEBELEAE
Bz5:22
A RILFE—LBLEE (3) Cihgim 1THHY (0.13km2)
% # B - Ikt iE T E B 5 = " =
TEE SA RNy 2L
=] 1.00 3,518.00 3,518/2.00H / 8H
SAIE M FRP D 70PS#Y
B 1.00 75, 113. 00 75,113 8H
BIE TR
A 1.00 54, 600. 00 54, 600
A SR
A 1.00 47,100. 00 47,100
BB
A 1.00 36, 900. 00 36, 900
AEBF
A 0.50 34, 600. 00 17, 300
GNSSEILEE DGNSS
=] 1.00 25, 740. 00 25, 740
TILF E—LEENFEHE 36~455kHz
B 1.00 339, 900. 00 339, 900
A 0%
% 2.00 600, 171. 00 12,003
& F VEEREN 0. 13km 2 4,709, 030. 00 612,174
H5:23
B MEEER 1LY
% 5 Bk - BIKT R £ £ H @ %8 T S
R
A 4.30 54, 600. 00 234,780
BB
A 12.60 47,100. 00 593, 460
A2 B
A 11.30 36, 900. 00 416,970
A 0%
% 4.00 1,245, 210. 00 49, 808
& F VERE S 1 1.00=% 1,295, 018. 00 1,295,018
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RER-TET/ Svr— KEBELEAE
BE5 24
L LBRER EEL
% o B - AR B g B ff %8 w =
EBRERE
= 1.00 100, 000. 00 100, 000
& it {E¥8:H - 1.00K 100, 000. 00 100, 000
HE5:25
2% BFRERERE B
2 # 1B - AR By g B %8 ® =
EFRERERE
= 1.00 120, 000. 00 120, 000
& it {E¥8EH - 1.00K 120, 000. 00 120, 000
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=R E KEBELENE
BHRES 1
BERLM: bovy 2tFE 182Y 4.70H / 8H
3 ] B - KT B B B i i H =
23
L 18.00 128.70 2,316
E&F (— )
A 1.00 20, 800. 00 20, 800
BE (FSu/[EEE]) 2tiE
B 4.70 273.00 1,283 B ER R
BE (FSys[BER]) 2t
B 1.13 2,730.00 3,084 #HEH
& it 27,483
BHRES 2
HMERL : XBE 4 kN2 2 182 Y 2.00H / 8H
3 ] 1B - AR B B B % 1 % =
AV
L 7.00 152.00 1,064
BH GAMAYIAVIUIVSY - = REEELE HaE2 0L
i el 2.00 287.00 574 EER R
B (SAMNAV[AVYUIVSY - FEFEESE HRE20L
i H 1.19 1, 580. 00 1,880 #HABE
& it 3,518




=R E KEBELENE

Bifi&xES 3
Biffi&k4& %5 : RIEM FRP D 70PSE! 1B4Y 8H
£ L g - BRTE BAGL #H = B @ ® & = w5 &
EHhA
L 44.00 84.00 3,696
EiEMmE
A 1.20 29, 400. 00 35,280/ 3=1.20
#EH (@M [FRPE]) D 70PSE! 3.0GT
B 1.00 3,210.00 3,210 NIy =]
#E¥ (3EM[FRPR]) D 70PSE! 3.0GT
=] 1. 65 3,360. 00 5,544 a=1.65 #®AA
RGEERE
% 26. 15 47,730.00 12, 481
—REEE
% 24.75 60, 211.00 14,902
& & 75,113




